Solve this problem using excel solver!
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1. Enable excel solver (if you have not used it before):
a. FileOptionsAdd-insSolver Add-inOK
2. Set up equation in your sheet
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The equation for Fzero in this sheet is = C7/(1-C7)*SQRT(2*C4/(2+C7))-C3 (Note: subtract LHS)
3. Use Excel Solver to drive C9 cell to zero by changing C7 initial guess value [Data ribbonSolver]
[bookmark: _GoBack][image: ] Click ‘Solve’, x = 0.0282
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6.14 In a chemical engineering process, water vapor (H,0)
is heated to sufficiently high temperatures that a significant
portion of the water dissociates, or splits apart, to form oxy-
gen (Oy) and hydrogen (H):

H02H; + §0;
If it is assumed that this is the only reaction involved, the
mole fraction x of H,O that dissociates can be represented by

K= / 2 (P6.14.1)
I—xV2+x

where K is the reaction’s equilibrium constant and p; is the
total pressure of the mixture. If p; =3 atm and K = 0.05,
determine the value of x that satisfies Eq. (P6.14.1).
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3 0.05 constant
pt= 3atm

Solution Variable:
x 0.1 mol frac

Fzero= 0137812
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Make Unconstrained Variables Non-Negative.

SelectaSohing | GRG Nonlinear = Options
Method:
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Select the GRG Nonlinear engine for Solver Problems that are smooth nonlinear. Select the LP
Simplex engine for inear Solver Problems, and select the Evolutionary engine for Solver
problems that are non-smooth.

Help Solve. Close





